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Abstract

Kumamoto city located in the middt#f the Kyusyu Island, Japan gseatest city which uses groundwater domestic
water There are 4 groundwater areas in Kumamoto prefecture, and the Kumamoto area is the biggest one in those 4 areas. In
this area, &lof domestiowater for 1 million populations depends only on groundwateaddition, this groundwater is used
to agriculture and industrial todoreover,this groundwater is the important resource for supporting development of
Kumamoto prefecture. Hower, groundwater level decreased year by year until 2004. It seems that paddy field having high
ability for groundwater recharge is continuously decreadiggause of that, Kumamoto city and 4 companies have
performed the poridg water project on the fidlin the MiddleShira River Area since 2004. Thendingwater projecis to
keep water in the no rice crop by farnlerthis way, groundwater level is rise Whowever, recently, the nitrate nitrogen
concentratiorof groundwater rise;n Kumamoto areaAnd, it is said that th@ondingwater projectcauseshe nitrate
nitrogen pollution of groundwater. Therefore the autlefaservedhe nitrate nitrogen concentration of soils in the ponding
water area andstimated quantity of nitrate nitrogenseepage ater afterwaran field in the MiddleShira River Area. As a
result, it is considered that the possibility of the nitrate nitrogen pollution ipptitengwater project is low

Key Words :recharge, groundwatenifrate nitrogen pollution ponding wateproject
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